" AMR Series

Magnet type rodless cylinder / Bore size: @10, @16, @20, 925, @32, @40, 50

@ Precision stainless steel body for
smooth actuation

® Light weight
® Compact design
® Leak free

@ Non - lubricated type standard
@® Position sensing capable with guide

type(G)

Actuator
Cylinder

AMR Series

i e

Actuator

[2] Magnet type rodless cylinder

Type of bearing
B : Basic type(Standard)
G © With guide type
(Auto swilch capable cylinder)

L : Foot type
[4] Magnet holding power(kgf)
Dia H L
@10 55 -
@18 12 -

g | 2 | 157
g% | 37 | 225

@32 60 36.5

@40 94 58

@50 150 =

L:3Mm

S:1pc
N : N pcs

W13 © 2-Wire(AC100V, DC24V)
WIH : 3-Wire(DC24V)

[9] Number of switches
Blank : 2 pcs

[5] Bore size
Bore size Stroke(mm)
No, | Size AMRB AMRG
10 | @10 50~500mm 50~500mm
16 | 916 50~500mm 50~700mm
20 | @20 | 100~~1,500mm 100~1,000mm
25 | @25 | 100~~1500mm 100 ~l__500mm
32 | @32 | 100~2,000mm | 100~1,500mm
40 | 940 | 100~2000mm | 100~~1500mm
50 | @50 | 100~~2,000mm -
Auto switches
Blank : None

Lead wire of auto switches
Blank : 0.5M

Specifications

Fluid Air
Proof pressure 1,05MPa(10 5kgf/cm?)
Max, operaling pressure 0,7MPa(7kgf/cmz)
Min, operating pressure 0,2MPal2kgt/cm?)
Ambient & fiuid temperature 5 ~ BOTC
Lubrication Non-=lube
Operating piston speed 150 ~ 400/sec
@10, @16 Rubber cushion
Cushion Base s @25, @32, @40, @50 Alr cushion
With Guide type @10, @6, @20, @25, @32, @40 Rubber /Air cushion
At e Bore size Port size Standard stroke Operating pressure

{mm) AMR | UAMR

AMR(mm) |UAMRIinch)| kal/em?(psi)

Double acting/ g}ﬂ M5X0.8 I?J_&z 50~500 0512
Ball bushing bearing 92%
fype (U)AMRB [—g25 | Re(PTI/8 r;JPST 100~1500 | 05~60 15~7
— ey
EI 932 / (21~100)
040 petp)iza |NpT 74| 1002000 | 0578
@50
1 = u !
Double acting/ gig M5x0.8 I%NSFZ ggm?gg ggmgg
Sliding bearing 320 OO | 050
[ e . [a¥] | X 7,
L (UJAMRG | @25 RCT(PTJ TFBT 157
032 | 8 s | ey | BTS00
' a0 | ROPTI | NPT i '
1/4 1/4




Series AMR

Fluid Air
Proof pressure 1.03MPa (149psi)
Max. operating pressure 0.7MPa(9psi)
Min. operating pressure 0.2MPa(28psi)
Ambient and fluid temperature 5~ 60T (41 ~ 140°F)
Operating piston speed 50 ~ 400 mn/s
Cushion Rubber cushion at both sides
Lubrication Non-lube
AMRB10, AMRB16 Rubber cushion
AMRBZ20, AMRB25
Air cushion
Cushion type AMRB32, AMRB40, AMRB50
AMRG10, AMRG16, AMRG20
Rubber cushion
AMRG25, AMRG32, AMRG40

Cylinder Theoretical Output

210 216, 20, 25, 32, 40, 50
200 50
100 1T LA
180 HT
90 . ype — /
H Type 160
_. 80 :
% 140 H
370 /| / 40
[5) V. s = 120 :
€ 60 K] Hy 4
o N4 I = :
A
c 3/ 1 3 100
5 90 2y 1 §' i
2 40 a"\,/ ‘ S 8 1 | Tyne A 32
< [ :
2 <P/ . yp / i A
e 30 7 T €0 H AT
= 20 @ . ;
] H / H 020
0 ; 20 /,/// :/4’.“’/ 16
077070203 04 05 06 07 08 09 10 0-
0 010203040506070809 1
Supply Pressure (MPa) Supply pressure(Mpa)
Weight Table Main Parts
No. of Magnets Bore Size 210 216 220 925 932 240 Description Material Note
Basic AMROH 0.08(0.17) 0.30(0.62) 0.37 0.71(1.56) 1.34(2.95) 2.15(4.74) Head cover Aluminiumalloy | Colored hard alumite
Weight AMROL - - 0.26 0.62(2.62) 1.19(4.34) 1.97(6.83) Sylindentibs Stainless steel
— - Body Aluminium alloy Colored hard alumite
Additional weight per 50 stroke 0.014(0.03) 0.02(0.04) 0.04 0.05(0.11) 0.07(0.15) 0.08(0.17
Magnet Rare earth magnet
Calculation method/Example : AMRB32-0400 Basic weight -+ ---1.34kg
Additional weight --- 0.07/50s » 1.34 4+ 0.07 x 20 + 2 = 2.04kg
Cylinder stroke -« -+ 500st




427-435-AMR 2012.9.7 3:5 PM slo]x]429 34234} $ sasuiEl [

Series AMR
Basic Type:Construction/Parts List ACP

AMRBH ¢ 10, ¢ 16 APM
AS
No. Description Material Note
DOBOB OG® OOG O | Sider Aluminum alloy |~ White Alumite AX
j,_'!_ / I," / / ;f f ||" I;" (2) Holder Aluminum alloy ”
TR : .'I / (3] Piston Aluminum alloy | Zinc Chromate AM2
- ¢ 0 | Shaft Stainless steel
T (5) Inner Magnet - Nickel Plated AM
(6] Outer Magnet - ”
(7) Inner Yoke Carbon steel ﬁkx
6 Outer Yoke Carbon stegl A
(9] Inner Wear Ring Resin ASQ
g Suter Wear‘ Ring Resin A8 5
iston Packing NBR ADQ2
® | WiperRing NBR
; : AJ
® Snap Ring Spring AM
(1] CylinderTube Stainless steel
® End Cover Aluminum alloy ABK
® Tube Gasket NBR
AMRBH #20, $25, $32, $40 ® | Bumper Urethare ACK1
NSK
®0000 0@ 00O :
|| ,u'll I I,-‘J / I II| & /-’ IIIIII." IIII.I'III [ ey % AG
=i W : | | g:t}¢ ‘_: RQ@\ NGQ

RN . ) : | = W
=g ] o 10 L [/ A
A : H Y | AGX
‘|l— | \ . I‘.\"\\ /} J /;f GX

."I | | |I \ i \} \:5_—__’/// NP
L L —= |
00060 ADR
AMR
No. Description Material Note No. Description Material Note
© | Slider Aluminum alloy White Alumite ® | SnapRing Spring steel NDM
@ | Holder Aluminum alloy ‘ @ | CylinderTube Stainless steel
© | Piston Aluminum alloy | Zinc chromate ® | EndCover Aluminum alloy Hard Alumite ARD
@ | Shaft Stainless steel ® | Cushion Packing NBR
@ | Inner Magnet - Nicke Plated ® | Cushion Valve Carbon steel NST
O | Outer Magnet - ‘ ® | Cushion Valve O-Ring NBR
@ | InnerYoke Carbon steel Zinc chromate AST
® | Outer Yoke Carbon steel ‘
@ | Inner Wear Ring Resin ASTH
© | Outer Wear Ring Resin
® | Piston Packing NBR NLCD
® | WiperRing NBR
NLCS
429

www. TPCpage.com
www. TPCpneumatics.com




Series AMR

Basic Type : Construction/Parts List

AMRBH @50
/‘“\ o 7 s I/“\I faN(aa N FER ) P (ﬂ I/"\I
9 @9 1 QEOO@E@EEIE G
| | ’( \ O | [ | f
| \ | | | | / /
|II | ;"l \ | | ] |/ / /
Lo L T D O O O 1 Y
jusfS / o T
. = = = ~ -
F \H 1 I F
& ] N\ : |
®) @) '
NO. PARTS MATEIRAL QTYy REMARKS NO. PARTS MATEIRAL QTYy REMARKS

1 SLIDER Aluminium alloy 1 White Alumite 11 PISTON PACKING NBR 1
2 HOLDER Aluminium alloy 2 White Alumite 12 |WIPERRING NBR 2
3 [PISTON Aluminium alloy 2 Zinc Chromate 13 [SNAPRING Carbon steel 1
4 |SHAFT Stainless steel 1 14  |CYLINDER TUBE Stainless steel 1
5  [INNER MAGNET Rare earth magnet 4 Nickel-plated 15 |END COVER Aluminium alloy 2 White Alumite
6 OUTER MAGNET Rare earth magnet 4 Nickel-plated 16  |CUSHION PACKING NBR 2
7 INNER YOKE Carbon steel 5 Nickel-plated 17  |CUSHION VALVE Carbon steel 2
8 OUTER YOKE Carbon steel 5 Nickel-plated 18 |CUSHION VALVE O-RING NBR 2
9  |INNER WEARING Resin 4 19  [RING PLATE Aluminium alloy 2 White Alumite
10 |OUTER WEARING Resin 2 20 |BUMPER Urethane 2




LEEEEIC M K]

427-435-AMR 2012.9.7 3:5 PM #0430 =LAz} $

Series AMR

Basic Type : Construction/Parts List
AMRBL $20, $25, @0@@@ @@@

$32, $40

FEW.

5 HL\/lL \’J
—a Jal?

11 [

000

99@60 od
No. Description Material Note No. Description Meaterial Note
O | Slider Aluminum alloy Hard Alumite ® | Snap Ring Spring steel
@ | Holder Aluminum alloy|  White Alwnite @ | CylinderTube Stainless steel
® | Piston Aluminum alloy|  Zink Chromate ® | End Cover Aluminum alloy| Hard Alumite
(4] Shaft Stainless steel ® | Cushion Packing NBR
® | Inner Magnet - Nickel Plated ® | Cushion Valve Carbon steel
@ | Outer Magnet - ) ® | Cushion Valve O-Ring NBR
@ | InnerYoke Carbon steel Zinc Chromate ® | Inner Spacer Aluminum allo
® | Outer Yoke Carbon steel ) @ | Outer Spacer Aluminum alloy]
@ | Inner Wear Ring Resin
@ | Outer Wear Ring Resin
® | Piston Packing NBR
® | WiperRing NBR

Guide Type:Construction/Part List

No. Description Material Note
© | Slider Aluminum alloy Hard Alumite
AMRGH £ 10, ¢ 16 @ | Holder Aluminum alloy White Alumite
(3] Piston Aluminum alloy Zinc Chromate
@\ 6\“@?@ @‘Ef/ ? 0 | St Stainless steel
— ! @® | Inner Magnet - Nickel Plated
©® | Outer Magnet ‘
@ | InnerYoke Carbon Steel Zomc Chromate
® | Outer Yoke Carbon Steel ‘
© | InnerWearRing Resin
@ | Outer Wear Ring Resin
@ | Piston Packing NBR
® | WiperRing NBR
® | SnapRing Spring Steel
® | CylinderTube Stainless steel
® | EndCover A Aluminum alloy Hard Alumite
® | EndCoverB Aluminum alloy ‘
® | Guide Rod A Carbon Steel Hard Chrome Plated
® | Guide Rod B Carbon Steel ‘
® | Bumper Urethane
@ | Cushion Stopper Aluminum alloy Zinc Chromate
@ | Cyl Tube Gasket NBR
@ | Guide Bush PBC3
@ | S/W Holder Aluminum alloy White Alumite
DETAIL '8° @ | S/W Magnet - Nickel Plated
- @ | Guide Rod Bolt A Carbon Steel )
@ | Guide Rod Bolt B Carbon Steel
@ | S/W Holder Bolt Carbon Steel

430




427-435-AMR 2012.9.7 3:5 PM s]°o]x]431 3FL 4t $

LEEEEIC M K]

Series AMR

Construction/Guide Type ACP
AMRGH ¢ 20, ¢25, $32, 440 AMRGL ¢20, $25, $32, $40 APM
AS
= AX
U S AM2
(1571408131517 14 11829126] AM
AL
ALX
A8
ADQ
A8
AJ
AM
_DETAN A" HEWSRF CHETAE A BETMLTRE MEWTFE
ABK
No. Description Material Note No. Description Material Note
0 Slider Aluminum alloy Hard Alumite 0 Slider Aluminum alloy Hand Alumite ACK1
@ | Holder Aluminum alloy : @ | Holder Aluminum alloy :
(3] Piston Aluminumalloy | Zinc Chromate (3] Piston Aluminum alloy | Zinc Chromate NSK
@ | Shaft Stainless steel (4] Shaft Stainless steel
@ | Inner Magnet - Nickel Plated (5] Inner Magnet - Nickel Plated AG
® | Outer Magnet - ‘ (6] Outer Magnet - ‘
(7] Inner Yoke Carbon Steel Zinc Chromate (7] Inner Yoke Carbon Steel Zinc chromate NGQ
® | OuterYoke Carbon Steel ‘ 6 Outer Yoke Carbon Steel :
(9] Inner Wear Ring Resin [9) Inner Wear Ring Resin AGX
(0] Outer Wear Ring Resin 0 Outer Wear Ring Resin GX
@ | Piston Packing NBR o Piston Packing NBR
® Wiper Ring NBR ® Wiper Ring NBR NP
® Snap Ring Spring steel ® Snap Ring Spring Steel
@ | CylinderTube Stainless steel () CylinderTube Stainless steel ADR
® End Cover A Aluminum alloy | White Alumite ® End Cover A Aluminum alloy White Alumite
® | EndCoverB Aluminum alloy ‘ (6] End Cover B Aluminum alloy ‘ AMR
® Guide Rod A Carbon Steel Hard Chrome Plated ® Guide Rod A Carbon Steel Hard Chrome Plated
® Guide Rod B Carbon Steel “ ® Guide Rod B Carbon Steel ‘ NDM
(19] Air Pipe Carbon Steel [19] Air Pipe Carbon Steel
(20] Air Pipe O-Ring NBR [20) Air Pipe O-Ring NBR ARD
2] Cyl' Tube O-Ring NBR 2] Cyl Tube Gasket NBR
@ Guide Bush PBC3 @ Guide Bush PBC3
® S/W Holder Aluminumalloy | White Alumite ® S/W Holder Aluminum alloy White Alumite NST
@ | S/W Magnet - Nickel Plated (] S/W Magnet - Nickel Plated
@ | Guide Rod Bolt A Carbon Steel : @ | Guide Rod Bolt A Carbon Steel ‘ AST
[26] Guide Rod Bolt B Carbon Steel 2] Guide Rod Bolt B Carbon Steel
@ | S/W Holder Bolt Carbon Steel (2] S/W Holder Bolt Carbon Steel ASTH
® Bumper Urethane (23] Bumper Urethane
(29] Cushion Stopper | Aluminumalloy | Zinc Chromate [29] Cushion Stopper | Aluminum alloy zinc Chromate NLCD
[30) Inner Spacer Aluminum alloy White Alumite
@ Outer Spacer Aluminum alloy ‘ NLCS
431

www. TPCpage.com

www. TPCpneumatics.com




427-435-AMR 2012.9.7 3:5 PM slo]x]432 34234} $ sasuiEl [

Series AMR
Dimensions / Basic Type

LL+Stroke AMRB ¢ 10, $16
L +Stroke ‘63

XA 4-MA N
Effective Thread Depth:JA G

<Q»N i F
1 Py Y )/
Hell -4+~ e
| \

|
14 | o |
<B 4-MB 2-Port Size

Effective Thread Depth:JA

: .
-
e
T
© | -©- VIEW ‘A
I : I (mm)
Model |StrokeRange | Port Size| A | B |#D| F | G |GG|JA|JB| L |LL MA MB N |NA NN XA YA XB| YB
AMRB*10| ~300 | M5x0.8|42|26| 11| 8 |45|105/45|45] 63|79 | M4x0.7 M3x0.5 9 12| M8x1.0 |30)16/30| 16
AMRB#16| ~300 | Mbx0.8|55 |36 (174 8 |45| 14 |55|55| 83|99 | Ms5x0.8 M4x0.7 9 [ 18] M10x1.0 |35/20(36]| 19
(inch)

Model |Strokerange | Portsize | A | B | $D| F | G| GG|JA|JB | L |[LL| MA MB | N [NA| NN [XA|YA|XB|YB
UAMRBH10| 12inch  |No.10-32UNF|1.650.98 0.43/0.31{0.18| 0.41]0.18/0.18|2.483.11| 8-32UNC | 5-40UNC |0.35|0.47 %/16-24UNF |1.18 |0.63|1.18|0.63
UAMRBH16| 12inch  |No.10-32UNF2.17{1.38| 0.69/0.31/0.18| 0.55 |0.22(0.22 [3.273.90| 10-32UNF | 8-32UNC (0.35(0.713/8-24UNF [1.38(0.79/1.380.75

LL+Stroke AMRB $20, ¢25, $32, $40
L+Stroke o3 B
GG A N F
FOlN XA ) 4-MA fe 2-NN
G, — Effective Thread Depth:JA /_

I
- /]
] L — - |________O_____ _I -4 L A
I > —[ .
ot | © — N
/
«B 4-MB 2-Port Size CINA
|<—>| Effective Thread Depth:JA
'

~

S
R IR
& | & VIEW “A"
(mm)
Model |StrokeRange|Port Size | A | B [¢D|F | G |GG|JA|JB| L |LL MA MB N |NA NN XA|YA|XB|YB
AMRB:20 | ~1500 | Rc1/8 | 66|40|216(13| 8 |20 9 | 9 [106]132| M6x1.0 M4x0.7  |148) 24 | M20x1.5 | 50|26 |50 | 25
AMRB#25 | ~1500 | Rc1/8 | 75|50(26.6/13 | 8 | 18| 9 | 9 |111]137| M6x1.0 M5x08  |14.8/ 30 | M26x15 |50 |35 |50 |30
AMRB:32 | ~1500 | Rc1/8 | 88|60|338[13 | 8 | 18|12 12 {124]150 | M8x1.25 M6x10  |14.8/345| M26x15 |60 | 40|50 |40
AMRB#40 | ~1500 | Rc1/4 | 91|70 42 [16 | 11]29.5( 11 | 11 {150|182 | M8x1.25 M6x1.0  |21.3/425] M32x2.0 |60 |45 |60 | 40
(inch)

Model | Strokerange | Portsize |A |B | D | F |G |GG |JA |JB | L | LL MA MB | N |NA| NN [XA|YA|XB|YB
UAMRB[J20|0.5~60inch| NPT 1/8 [2.60 [1.57/0.85 0.51(0.31/ 0.64 0.35|0.35 |4.17|5.20 | "/-28UNF | 8-32UNC |0.58|0.94| %/4-16UNF |1.97|1.02/1.97/0.98
UAMRB[J25|0.5~60inch| NPT 1/8 [2.95 (1.97|1.05 0.51(0.31) 0.60 0.35 |0.35 |4.37 | 5.40 | '/+-28UNF | 10-32UNF |0.58|1.18| 1-12UNF [1.97|1.38|1.97/1.18
UAMRBL132|0.5~60inch| NPT 1/8 3.46 P.36| 1.33 0.51(0.31/ 0.61 0.47 0.47 |4.88|5.90 | 8/16-24UNF| '/4-28UNF |0.58|1.36| 1-12UNF [2.36|1.57|1.971.67
UAMRBI40|0.5~60inch| NPT 1/4 3.58 P.76| 1.65 (0.63/0.43| 1.06 0.43(0.43 |5.90 | 7.17 | 5/16-24UNF| '/4-28UNF |0.84|1.67|1"/4-12UNF[2.36|1.77|2.36|1.57

432




AMR series

Basic type
AMRB @50
ETROKE + 180
2 STROKE « 178 2
L2
28 10k, 28
,J_L 80 Exi-M8xF1.25 0P16
2=PTI/4
2eemi | ”
L[
1&9 4 R T
Ha[ 8 %g
m Pt
0 @ &
\ 4-MBxP1.26 DP12
A-MEP1 25 D2
— @ f
{
IL |
A Er =
80
MIEW A
Foot type
XA 4-—MA A XB y
Effective thread depth 4-MB A
Effective thread depth
@ ‘ é | &— ‘ & |
O_ ;I_I | () ()_ g | _ O
C177 - - -
VIEW "AA" VIEW "BB"
A
F G, WAA" 2 — Port size 2—NN B
‘ P
O =
N B B ™
4-0LD  2-01 ! /j o
A § = ;\::
i ’ il N
L 1 I\' l 1 L I L
1
3 GG "BB"
Y| X L+5Stroke X X LE
L5+Stroke LM
LT+Stroke
Type |Strokelportsize | A [B | C | F |G |GG|JA| L [LS|T| MA | MB [N | NN [XA[YA[XB|VB| X | VY |LH|[LK|LM|LA|LC|LD
*AMRL*10] -300 | M5%08 |42 | 25 165 8 |45(105)45] 63 |77 | 87 [Max07 [M05] o [Mexio|a0 |16 a0 [w| 7[5 0 |x|3]|1s 45
*AMRL*16] ~a00 | M5x08 |65 35|25 | 8 |45/ 14|55/ 83 [101] 13| mox08 |Mex07| 9 |Miox10{ a5 (20 a5 (19| 9| 6 [ 14 |a |42 |23 55
AMRL'20| ~1500 |RoPTyi8 |66 | 40 |40 | 13| 8 [ 20| 9 | 106|146 162 | MBx1.0|Me0T [148|Moox15] 50 | 26 [ 50 |25 | 20| 8 |25 |40 | 65 32| 4 |68
AMRL'25| ~1500 | RePTyi/R | 75 | 50 | 47 [ 13 | 8 | 18| 9 |111[151| 167 | MBx10 | ME>08 |14.8|M26x15( 50 | 35 | 50 (30 | 20| 8 |28 |40 |55 |32 | 4 |68
*AMRL'32| ~1500 |RopT1/8 | 88 [ 60 |47 [ 18| 8 [ 18] 12 [ 124 ] 164] 180 [Mex1.25| Mex1 0 [ 14.8[Moex15] 60 [ 40 [ 50 [40 [ 20| 8 [ 28 |40 [ 85 [32] 4 |68
*AMRL*40| -1500 | RePyt/4 | 91 | 70 | 54 | 16 | 11 [295] 11 | 150|196 216 |Mex1.25| Mex1.0 |21.3|maoxan| 60 [ 45 | 60 | 40 |23 | 10 |20 |55 | 75 [32] 4 | 7




427-435-AMR 2012.9.7 3:5 PM s]0]x]433 g4 34} $ sasuiEl [

Series AMR
Guide/ Slider Bearing Type ACP

APM

AMRG $10, ¢16

AS

LLL+Stroke

4-¢c Thru LL+Stroke

, : AX
4-C BORE $E depth:F G L+Stroke G B 2MS

A AMB .
H 4-MA Effective thread / Port size
) : [Ed]
depth:JB AM 2

HA Effective thread Depth:JA

HB @*‘ 5

HC \ u i) Port size !
=y H

©f o ¢ ® o

d N - AL

b

£

e ALX

i e
J i = ABa
c: € : QB%Z

i i AJ
,I_ " i | AM

)
@A
4
A
@I
2
©
2R
®

“
1

Port size

n ABK

ACK1

NSK

Model | Stroke Range | Port Size | A |#C|$D|¢d|$E| F |GG| G | H |HA|HB|HC|HD|HE|HH|JA| JB| L [LL|LLL| MA MB MS [ T|W/|XA|Y [YA
AMRG#10 |  ~500 MB5x0.8 {42 |43 1110 |8 | 5| 19| 5 |34|32|27|20{ 12| 12| 2 [10| 8 |50|60|80| M5x0.8 | M5x0.8 | M8x1.0 | 15/60 |25 |24 | 25
AMRG#16 |  ~700 MB5x0.8 | 55 (5.2(174{10 (10| 7 | 23| 7 |40|38|30| 24| 15| 15| 2 [ 12| 10|61 |75(101) M5x0.8 | M8x1.0 | M8x1.0 | 20| 75|30 |30 | 30

AG

NGQ

AGX
(inch) GX
Model |Stokerange| Port size| A |$ C|¢D|#d|$E|F|GG|G|H | HA|HB|HC |HD [JA|JB| L |LL LLL| MA | MB | MS | T [W[XA|Y |YA NP
UAMRGH10|0.5~20inch| 10-32UNF [1.650.17(0.43/0.39]0.31 .20 0.74 0.20/1.34 | 1.26|1.06| 0.79 | 047 {0.39(0.311.97|2.36 3.15|10-32UNF| 10-32UNF |3/1e-24UNF|0.59{2.36|0.98(0.940.98
UAMRGH16|0.5~20inch 10-32UNF [2.170.20 (0.69(0.39{0.39 .28 0.90 0.281.57| 1.50|1.18] 0.94 [ 0.51 |0.47/0.392.40[2.95 (3.98]/4-28UNF| '/&-28UNF |8/e-24UNF 0.79(2.95/1.18|1.18/1.18 ADR

AMR

NDM

ARD

NST

AST

ASTH

NLCD

NLCS

433

www. TPCpage.com
www. TPCpneumatics.com




427-435-AMR 2012.9.7 3:5 PM slo]x]434 3434} $ sasuiEl [

Series AMR
Guide/ Slider Bearing Type

AMRG ¢20, ¢25, 32, $40

LLL+Stroke H
LL+Stroke HA
4_¢,C Thru G L +Stroke G HD
4-C' BORE $ E depth:F A
2MS A 4-MA Effective thread Depth:JA J';—E‘c
1! Port size Al
4MB l \\ i
Effective thread B RN
depth:JB % 9/ 21 @ 4D
=3 - 1 o— A
1. %9_ @ 4 I i
) < o L&y
> =
Port size P i = : r(J
IS @A)
= @ o o ; &
% Q) = T
i 00 £l
T 1
T L. Lt
GG Port size
T T

Model |Stroke Range | Port Size | A [#Ci#D| #d ¢E| F |GG G | H|HA/HB|HC | HD | HE |HHJA[JB| L [LL|LLL| MA MB MS [T |W|XA Y|YA
AMRG#20| ~1,000 | Rc1/8 |66(5.2]21.6/ 16| 10| 6 29| 8 | 46| 44| 11|19 | 30 145 2| 8|15|74 | 90 |124 | MEx1.0 | M6x10 | M10x1.0 |25|98| 40| 38| 40
AMRG*25| ~1500 | Rc1/8 |74|6.8(266) 16| 11| 7 | 25| 8 |54|52| 15 |23 | 34 |185] 2| 8| 16|74 |90 |124| M6x1.0 | M8x1.25 | M14x15 | 25|102| 40 | 42 | 40
AMRG#32| ~1500 | Rc1/8 |8386(338/ 20| 14|86|29| 10|64 62|195[295/42.5 19 90 (110|146 | M8x1.26 | M10x1.5 | M20x15 | 281122 60 | 50 | 50
AMRG#40| ~1500 | Rc1/4 |91(86|42| 25| 14|86(345 10| 74| 72| 20 345/47.5| 20 | 4|12|14{100{120{160 | M8x1.25 | M10x1.5 | M20x1.5 | 30 145| 64 | 64 | 64

F S RS
~
>

(inch)

Model | Stokerange | Port size|A [#C$D|$d|$E|GG|F |G| H|HA|HB|HC|HD |JA|JB| L [LL|LLL| MA | MB | MS | T |W[XA| Y |YA
UAMRGLI20|0.5~40inch| NPT 1/8 .600.20/0.85{0.63 (0.3 |1.14 {0.240.31/1.81 1.730.43|0.75 | 0.57 0.310.59(2.91{3.54|4.88 |1/:-28UNF | /:-28UNF | /&-24UNF | 0.98(3.86[1.57|1.50 1.57
UAMRGLI25|0.5~60inchj NPT 1/8 £.910.27|1.05|0.63 {0.430.98 |0.280.31(2.12 2.05 | 1.59{0.91| 0.73 0.31 |0.632.913.54|4.83 | /2-28UNF [8/re-24UNF|/1e-18UNF| 0.9814.021.57|1.65( 1,57
UAMRGLI32|0.5~60inch| NPT 1/8 B.460.34/1.33{0.79 0.5 |1.14 {0.340.392.52 2.44 |0.77| 1.16 | 0.75 0.47 |0.633.5414.33|5.75 F/1e-24UNF | ¥-24UNF | #--16UNF | 1.10|4.801.97|1.97) 1.97
UAMRGLI40|0.5~60inch| NPT 1/4 B.580.34|1.65(0.98 0.5 |1.36 (0.340.392.91 2.83|0.79| 1.36 | 0.79 0.47|0.55/3.9414.72|6.30 |8/1s24UNF | 3/-24UNF | /4-16UNF | 1.18[4.72/2.52|2.52) 2.52

434




427-435-AMR 2012.9.7 3:5 PM slo]x]435 g4 34} $ sasuiEl [

Series AMR

ACP
S W APM
Part No. W13 WIHN(P)
Contact wiring Reed Switch 2 wire Solid Stage Switch 3 wire AS
Application Relay, Sequence Control
Voltage DC24v AC100V DC24v AX
Current 5~40mA 5~20mA =40mA
Contact Protection Circuit None Built—in AM2
Internal Voltage Drop Under 2.4V =1.5V
Indicator Lamp ON : When Red LED AM
- ECEEEm
W1 a a a Current Consumption - =5mA ALX
Current Leakage None =100zA AS
Operation Time =1ms =2ms ADQ

[1] TPC Auto Switch Model Lead Wire Qil Resistant Vinyl Code A82
Shock Resistance 30G 100G ADQ2
EI:Regd AUTO S Insulation Resistance 100MQ or more (500DVC Mega) between lead wire and case
- Solid State AUTO SW A JM
Voltage Resistance For 1 min.(in AC1500V/between a lead wire case)
N : 3 wire(NPN) T —10 ~ 601
perature 10~60T
P : 3 wire(PNP) ; . ABK
Protection Structure |EC Standard IP67, Water Proof, and(JISC0920),0il Structure
Blank : LEAD WIRE(0.5m)
M : LEAD WIRE(1m) ACK1
L 1 LEAD WIRE(3m)
NSK
Internal Circuit Protection Structure —
AG
o Brown(+) M2.5x0.45x4L (Slotted set screw)
NGQ
:\i/EwDCH ZENER DIODE Indicator Lamp
“ &
Blue(-) v 2 7
. o S I v = TS [y =
2 wire reed circuit © AN e =
NP
o Brown(+) 3
o Black(S) 6 3
- ADR
30 n
o Blue(-) 8 AMR
3 wire NPN solid state circuit
o Brown(+)
. — NDM
¥ AN G )
o Black(S) Operating range ARD
o Blue(-) S Most sensitive position
3 wire NPN solid state circuit NST
’ AST
Operating Range
Elase . read and understand the Saeiiton W13 WIHN(P) ASTH
instructions before use. Refer to the auto ” ”
switch precautions before using auto Most sensitive position(S) 10mm 1~2mm
switches. Operation range (L) 6 ~12mm 4 ~10mm NLCD
NLCS
435

www. TPCpage.com
www. TPCpneumatics.com




